\xdefCheckableltem{\finkdir-\finkbase}
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\ifthenelse{\boolean{Quiz?}}%

{%begin Quiz? true
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\UseProblem{\Checkableltem-q}%

{%
Given the function SHUTS whose global input-output rule is
\begin{displaymath}
x \xrightarrow{\hspace{Smm} HUT\hspace{Smm}} HUT(x)= -103.28x*{+8}
‘\end{displaymath}
and given inputs that are $+small$, what is the \emph{sign-size} of the outputs.
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¥oeend Quiz? true
{%begin Quiz false
\ifthenelse{\boolean{Homework?}}%
{%begin Homework? true
% SSS55555555555555555555555555555555555555555555555555555555555555555555S - Begin HOMEWORK
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\UseProblem{\Checkableltem-h}%
{%

Given the function $f$ specified by the global input-output rule

\begin{displaymath}

x \xrightarrow{\hspace{Smm}fhspace{Smm}} f(x)= (+45.94)x\+7}

‘\end{displaymath}



